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i Partial Colouring Suffices



RE FRAMING PROBLEM
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VECTOR BALANCING
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where H is the binary entropy function

H o clog a fl o log i o

i The total measure of translates is HUGE

There are a LOT of overlaps bin
translates

If g g it
1411 in

Eyivitk for y fi 1 i i



In fact the number of overlaps are
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WHAT HAPPENS IF I COLOUR RANDOMLY
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Since we want uniform bound

di 7 am t je Em

Probabilisticmethod gives

HANI may Ai Tn O Tioga

Random coloring gives 0 Noga
Spencer gave 0 tmn

for man
random coloring fog
Spencer O Tn



CONSTRUCTIVE DISCREPANCY MINIMIZATION
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DIGESTING THE THEOREM
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As long as exp ai on the
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PROOF SKETCH
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PROOF SKETCH
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In fact exp aiko s f
I am set constant number of Xi to
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Compare with random coloring
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Much stronger than random coloring




